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STI �/��  Y� �3�  STI   �4�   .�0
STI  �/��  STI  �3�  STI   �4�   .<0
STI  �/��  Y�  �3�  Y�  �4�  .;0
STI  �/��  Y�  �3�  Y�   �4�  .:0
STI  �/��  STI  �3�  Y�   �4�  .80

.8− ,�0 ,.;− ,;0  .L0  .�− ,;−0 ,.< ,�0  .�0

.�− ,e0 ,.� ,�0  .�e0  .: ,�0 ,.� ,�−0  .n0
.< ,80 ,.� ,�0  .��0  .e ,;0 ,.�− ,<0  .��0

.�; ,;e0 ,.�< ,<e0 ,.�� ,�e0  .�<0
S� �L  = � × ; = � ?Q�r
�� � £(� � |̂ B��#� S� ,m�� P� S�; �
�- £(�  .�;0

 .�:0
.m���0 �5�
���<;:8
.��N�70 �TG
�et<�et::et�L�te��t�;�t;�

sI�I7  �e; = �N
 ��* �@�b	
� ?�o��� 7�' l �� �#� ,��e + l� = �   .�80
./�0  .��0

<−; �� !�"  ��s�	B � ���� ����
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.$0 �T���
� ����
� �T���B
�  .;0   <<  .<0   n−   .�0   ��   .�0

?� |��N�7 <; = �@�b	
� ?mY\�� 7�' l �� �#� �8 + l< = �   .:0
STI   .30  Y� .40 .�0  STI   .30  Y� .40 .80

�;  .30  L − l = � .40 .L0
 .��0   .�e0   .n0
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� = ;;  .:0   �− = L;−  .;0   <; = 8L  .<0

�@2 .L0  �<   .�0  �L  .80
�
8   .��0  �−  .�e0  �:  .n0
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 .��0   .�80   .�:0  .�;0
   

./�0  .�n0  W

S�−�−�−
<−
;−

�−<−

<
�
�

<��

  .�L0

:−; �� !�"  �#I�#� m�
�� �#M- �>7�TB � U�I4
�
�  ,; ,�  .�0

�   .<0  ;−  .�0
?;= ��7��
� ��¤ �B Q�Mv*� �%&� ,;− = ��N#G
� ��¤ �B Q�Mv*� �%&� ,� = P#*� .;0
 ?�= ��7��
� ��¤ �B Q�Mv*� �%&� ,�− = ��N#G
� ��¤ �B Q�Mv*� �%&� ,� = P#*� .:0

?�= ��7��
� ��¤ �B Q�Mv*� �%&� ,� = ��N#G
� ��¤ �B Q�Mv*� �%&� ,�� − = P#*�  .80
 ?%��*� �MvN� �(� � = P#*�   .�0

?� �6� aG@I P#*� �� �� , جـ و h ب ,   .L0
   � = P#*� .n0

<= ��N#G
� ��¤ �B Q�Mv*� �%&�  
  8−= ��7��
� ��¤ �B Q�Mv*� �%&�  

   �: = P#*�  .�e0
%��*� �MvN� �(�  

 <; − = P#*�  .��0
 L<  = ��7��
� ��¤ �B Q�Mv*� �%&�  
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٨-

 �− = P#*�  .��0 
 %��*� �MvN� �(�  

   ./�0  .�;0  ���;�  = ��e�;�e   .�<0

8−; �� !�"  �o�#B [� ��YT
�� ��5��	*� U�M��
 ?aG@I �6 [	(#v	G*� [	TMv
� P#B ,STI  ./�0  �:   .30  �:   .40.�0
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  Y� .30  
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�
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�   STI .40 .�0

� = �¥Y� �� �#� 7 /�  ¦� 3$  [(#v	G*� [M�� Y#B H��G	� ,STI  .40
?���5��	B sV 7 /� , 3$   J
K
 :< = �e8  =   7 /� P#B , ��  = 3$  P#B  .30

 ?:− = ��7��
� ��¤ �B Q�Mv*� �%&� ;:� = ��N#G
� ��¤ �B Q�Mv*� �%&� ;� = P#*�  .40  .<0
?< = ��7��
� ��¤ �B Q�Mv*� �%&� ;<: = ��N#G
� ��¤ �B Q�Mv*� �%&� ;:− = P#*�  .30  

?� = ��7��
� ��¤ �B Q�Mv*� �%&� ;;< − = ��N#G
� ��¤ �B Q�Mv*� �%&� ;<�  = P#*�  ./�0  
l = � .;0

� + l� = �   .:0
� + l = � .80

� − l� = � .�0
?���5��	B �o\ �K
 aG@I P#*� �� ;� =  ;� =�� S#v	G*� P#B ;� =  ;� =�� S#v	G*� P#B  .L0

�− = 3$  P#B .� ,�03 ; .< ,:0$ ,U�vN
�� L + l− = � :���B ?����
�� �#
 >  .n0
./�0  .�e0
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 ?���� �@b
� � 8 = < + < = .et:0 × 8 + < ; < + l ��  = �  .80

��%#*� �%	� §�	
��� 8= � ×8 ;l = � ?�#I��
� �@b
� � �B4

 �t:ee + l et�:e = � :���� .�0
 etL�: + l et8:e = � :���
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 �− = ��7��
� ��¤ �B Q�Mv*� �%&�� �− = ��N#G
� ��¤ �B Q�Mv*� �%&� ,�−
�   .40 .L0

     < = ��7��
� ��¤ �B Q�Mv*� �%&�� � = ��N#G
� ��¤ �B Q�Mv*� �%&� ,<−
�   .30

 < = ��7��
� ��¤ �B Q�Mv*� �%&�� <−
�  = ��N#G
� ��¤ �B Q�Mv*� �%&� ,�   ./�0
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�  − = � ; � − l �
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�:e

�GB��� ����
�
�−: �� !�"  ��B�T	*� ��#v	G*�� ��5��	*� ��#v	G*�

١، ٣، ٥  ���   ٤، ٦، ٨   ���  ���
0>.  ٨، ١؛ ٧، ٢ �0.  ٦، ٣؛ ٥، ٤ 
0;.  إجابة ممكنة: ٥، ١؛ ٦، ٢؛ ٧، ٣؛ ٨، ٤

0:.  إجابة ممكنة: ٤، ١؛ ٣، ٢؛ ٨، ٥؛ ٧، ٦ 
°١٣٠  .�e0  °٥٠  .n0  °٥٠  .L0  °٥٠  .�0  °١٣٠  .80

0>�.  متبادلتان خارجيًّا  °٤١  .��0  °١٣٩ .��0
�L0.  (جـ) ��0.  متطابقة  �80.  المنصف العمودي  0:�.  المتوازية  0;�.  المتعامدة 

°٧ = ١٢٠  °٦ = ١٣٥  °٥ = ٦٠  °٤ = ٧٥  °٣ = ٤٥ .�n0

�−: �� !�"  7�T��� �#�Y� ��o���
�
� �
� �
� �

  .30      .40  .�0

�
�

�
�

�
�

  ���  

أعلى أمام يمين

  ���

  �	�  � � � � � �
� � � � � �
� � � � � �
� � � � � �
� � � � � �

  ���

80.  (جـ)



�:�

.$0 �GB��� ����
� �T���B
./�0  .:0  °��e  .;0  °�e  .<0   °�e  .�0  °�e  .�0

   .n0  .30  .L0  .70  .�0   .40  .80

<−: �� !�"  �I��M
��� ��_N(�
 �#UMG
� ���G*�
.40 .�0

٦م
٦م٣م

١٠م١٠م١٠م

٣م

٣م ٦م ٣م

?�m ��8 ./�0  ?8e = �e × 8 , <e = �e × < ,�L = 8 × < .30  
    �m ��8t�:

 ٦ م

 ٢ م

�
�

�
�

٥م

  .<0  

٥سم

٥سم

٥سم

٤,٣سم ١٢سم٤,٣سم

�S
 �e�t:   .�0

    �S
7 <�t:

٢,٥دسم

٢,٥دسم

٢,٥دسم

  .:0  �m ;88t�n -
٩ م

٢٨,٢٦ م

١٢م

  .;0

�S
 < ;:;   .L0  �S
 :e   .�0  uTb*� ar�   .80
.70  .�e0  �S
 :;8t:   .n0



�:�

;−: �� !�"  �I��M
��� ��_N*� S)�
  <m ���t�: ≈   ./�0   �m �nt8�:    ≈   .30  

٦م

٢,٥م  .40 .�0

<m �;t; (٦)  <S
 :8:t�  (٥)  <S
 � ��L  (٤)  <S
 �:;t<; ≈  (٣) (٢)  ٦٠ م٣ 

n0.  (جـ)  <m eten  .L0  <S
 :8 eee  .�0

:−: �� !�"  U���*�� m�o�
 �#UMG
� ���G*�
70.  ٠٠٨ ١ م٢ �0/.  ٢٥٢ م٢  30.  ٢٥٢ م٢  �0. (أ)  ٤ 

�S
7 �n�t�8 .30   S
7 ��t�8 (أ)  .<0 �0.  (أ)٢٠ سم   30. ٥٣٦ ١ سم٢  
 �S
7 8�L  .30  S
0;.  )أ7 ��  (

80.  ٢٥٣,٧ دسم٢ 0:.  ٣٥,٦ م٢ 
n0.  (ب) L0.  ٥,٧٤ م   �S
 ١٨٠٩,٣ ≈   .�0

8−: �� !�"  U���*�� m��� S)�
 <S
 <8   .<0    <S
 �:; ≈  .�0    <m ١٦١٣ .30    �m ١٢١

٤
  .40 .�0

  <S
 n;t� ≈   .�0   <SB 8e �LL ≈  .80     <S
 :8  .:0    <S
 �eetn8 ≈  .;0
�S
 8; aD�'�� ���GB RK
� m�o
�  .n0  SB ��tn ≈  .L0

.70  .��0  <S
 8�nt8�  .�e0

.30 �GB��� ����
� �T���B
30.   ٢٥ م ، ٨٨٤ ١ م� �0. 40.    ١٣ سم ، ٣٦٠ سم�  30.   ٧١٠ ١ سم�   �0. 40.  ١٤٩,١٥ م�   

80.  ١٢٣٠,٨٨ سم> 0:. ٣٨٩,٠١٧ سم>   0;. ٢٩٦ ١ م>    ٤١٢ سم>   .<0
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�GB��� ����
� �T���B
< ; < ;
� � < ;

   .�0 �0.   ٣٦,١ سم٢  

  ./�0   .7 /� , /� 30�4 ./� 3 ,3$0   .30 .<0  ?� /� , 3$   .40 .<0
(٧)    ١٤٢ سم٢  (٦) ٤٨٠ ٦ م٢    (٥)  ١٩٨ ٢ سم٢   (٤)  ٠١٤ ٢ سم٢ 

سم
 ٥

٨ سم

سم٣    (ب) ≈ ٨٣,٧   

١٠ سم
٦ سم

سم
 ٤

(٨) (أ)  ١٢٠ سم٣  

سم٣    ٧,٢٩ ≈  .��0 ��0. ≈ ٨٤٧,٠٤ ٩  م٣   �e0.  ٣٠٩ ١ سم٣      م٣      ٧٨,٢٨ ≈  .n0
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